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DAF 3134 Business Statistics

Answer All Questions

Calculators are permitted

Time:03 Hours

01. (r). The following information summarizes number of students enrolled in different study

prograrnme in a private college as shown below.

Study Programme Number of Students

I\,4anagement 125

Accountinq '150

Markeiinq 60

Finance 90

Entrepreneurship 70

Other 30

data using pie chart and bar chad.

( ).

Shows the above data using pie chad ar

Following daia shows average monihly

the Batticaloa District. The data were

purpose.

sales of 100 small scale

collecled as a samp e

(05 Marks)

Grocery shops n

for the research

a. Draw histogram.

b. Find ihe following l\,4easures:

i. I\,4ean;

iii. [,4ode;

ii Medlan;

iv. Standard deviaiion

c. Find skewness ofthe distribution and describe it.

d. Find coefficient of variation and interpret it.

Sales in

Rs. {'000')
B6low 20 20 - <40 40 -<60 60 -<80 80 -< 100 Above 100

No.of

Shops
'10 37 20 '16 10 7

(15lMarks)



(lV). The following statistics show the income Jevels of two vjllaqes.

a. Find the coefficient of variation of twolittaoes
b. Which village people income is more consjstent? (05

(Total Marks:25
0). From the company recods of the past 1OO working days, the manager of

mobile dealership has summarised the number ofcals sold per day into the fo
probability distdbution.

a.

b.

c.

Compute mean or expected nL,mbercfars sdd pernt
Compute the standard deviation of cars sold per day.
Find the probabitjty on given day that:

'1. fewer than 4 cars sold per dayi

2. at least 4 cars sold per day;

3. exactly 4 cars sold per day.

(tD. Leakage from underground petrol tanks at seryice slations can d
environment. lt is eslimaled that 30% of these tanks leak. 10 tanks are
random, independently ofeach other, and examined.
a. What is the prcbabilily that fewer than three tanks teak?
b. Whai is lhe probabjlity that at least nine lanks teak?
c, What is the expected number of leaking tanks?

A box consists of 10 btack colour balts and 5 white colour ba s. Aft"r.f#
box well, two balls were taken randomly without replacement. Find the probab

the followingl

a, two white balls:

b. at least one black ball;

c, getling ball first fime black colour and second time white colour.

( ).

Vjllages Average lncome (Rs.) Standard Deviation (

Number of cars sold

Probability (P-)

(Total Marks: 20 llt



03. (l). A slai siica ana ysis of long_cllstance telephone caLls made from th quaders oi

the Alrione Computer Corporation ndlcates that the length of these

distributed with mean U = 240 seconds and stanclard deviation o = 40 seconds

a. What percenlage ofthese ca ls lasted Less than 180 seconds?

b. Whai is the probabiliiy thal a parlicular cal Lasted between 180 and 300

seconds?

c. Whal ls ihe probability that a particular call lasled above 260 seconds?

d. What is the probability ihat ai least lhe telephone call duration is 200 seconds?

e. lf random samples of 100 telephone calls are selected, what is the probabi ity

that ihe average length of calls will be more than 250 seconds? (09 Marks)

(ll). A stationery slore roanager wants io esiirnate the mean retail value of greeting cards

that it has in its inventory. A random sample of 36 greeting cards indlcaies an

average value of 167 and a standard deviation of 30 Assuming data are

normallydistributed. Set up a 95% confidence inlerval esiimate of the mean vahre of

al qreetrng cards in the store s inventory'

Expaln the meaning of independenl and dependent variable with examples?

The following data gives the

companies in Sri Lanka.

(06 lvlarks)

(Total Marks: 15 Marks)

(05 Marks)

delails of advertlsement expenditure and sales of '10

company by

(15lt4arks)

04. (r).

00.

a.

b.

c.

d.

Advertisement
Expenditure (Rs. Million)

Salzs
(Rs. Biilion)

3 7

'2

6

4

7

t
6

1

8

9

9

9

7 8

Draw scatter Plot.

Find coefficieni of correlation and inlerpret it

Find coefficient ofdeterminani and interprel lt

Develop a regression model ln an aitempl to predict sales of a

amounl oi advedisement expenditure

(Total Marks:20 Marks)



Sales of Umbrefia (,000, Units)

05. (l), Briefly explain the componenls oftime serjes analysis_ (((ll). The following table gives the quarterly sales units of a small corpun, ouu,years.

You are required tol
a. Calculate the trend forthe sales of umb

average. 
rella as a cenked four-point moving

b. Evaruate the seasonal component for e 
(081

trend obtained in part (", ;"";;il;"flfiiH:jil:j":" ."'*tr 
i

" T:::":::H:f 
umb e a ror rhe rour o__" "'rr:::::::jr,;J



Stot st cs ior Alo.ogenlanl

CrticalValues of the
Sludent I Distrib!tion

Degrees of

3-078
1.886
1.638
t_533

1.476
1.440
1.415
1.397

1.383
1.372
1.363

1.356
1.350
1.345
1.341

1.337

1.333

1.330
' 1328

1325
1.323
1.321

1,319

1.318
1.316

1.315
r.314
1.313
1.311

1.3',10

. I '1.303

, r.301

1.299
1.297
1.296

,1292
1-292
1.291

: 1.291

1.290
1.289
1.289
1.288
1_288

1.2A7

1.281
1.281
1.286
1.286

1.286
1-282

63-657.:1!,{
'..9,9t6':,"]

' - 5.e41

3r.821
6.965
4.541

3.147
3.365
3.r4:
2.998
2.896
2.821

2.164
2.718
2.681

2.650
2.624
2.642
2.583
2.861

2.552
2.539
2.528
2.518

2.508
2.500
2.492
2.485
2.479
2.473
2.461
2.462
2.^.E7

2.438
2.423
2.412
2.403
2.396
2.390
2.385
2.381
2.377
2.374
2.371
2.368
2.366
2.364
2.361
2.358
2.355
2.353
2.351

2.350
2.344
2.347
2.346
2.345
23?6

6.314
2.924
2.353

2.132
2.015

1.943

1.895
'1.860

1.833

1.812
1.796
1.782

1.111

1.761

1.753
1.746

1.740
1.734
1.129
't.725

1.721

1_717

1-714
1.711

1.708

r.706
1.703

1.701

1.699

1.697

i.690
1.684

1.679

1.676

1.673

1.671

1.669

1.667

1.665

1.664
1.663

1,662

1.661

1.660

1.659

r.658
1.657

1.656
r.655
1.654
1.654
r.653
1.653

1.653
1.645

12.106
4.303

3.182
2.116
2.511
2.447

2.365
2.:06
2.262
2.228
2.241
2.179
2.r60
2.145
2.131

2.120
2.r0
2.101
2.093
2.08€
2.080
2.074
2.069
2.064
2.060
2.056
2.452
2.444
2.445
2.442
2.030
2.421

2.014
2.009
2.O44

2.000
1.997

1.994
1.992

1.990
1.988

1_S87
'r.985

r.s84
1.9A2
1.980

1.978

1_977

i.gzo
1.975
1.974
1.973

1.973

1_972

1.960

4.604
4.432
3.707
3.499

3.35s
3.250
3.169
3.t06
3.055
3.012

2.977
2.947
2.921
2.898

2.818
2.861
2.845
2.831

2.8rS
2.807

2.797

2.181
2.719

2.711

2.763
2.J 56
2 7s0
2_124

2.704
2.690

2.678
2.668

2.660
2.654
2.648
2.643

2.639

2.635

2.632
2.625
2.628
2.621
2.611

2.614

2.611
2.609

2.647

2.605

2.603
2.642

2.601

2.516

TABLE 4

\



Tbis lqblt prssenk lhr rr*6 bctw*ru thx mean nnd thr f af€re . Whe]l g=t.96, thc llsdrd
6ri:u iF S,4750.
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0.!
0,1
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0"9

t.0
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.4$93 .4896 ,4818 .49d1 .4rS4 .{106 .4}i9 .49|l .4913 .49t6
.4918 ,dS l .49?3 .49U .49?? .{t?9 d91: .4$2 .493,t _d916

.{gXl .{$dS "{941 .494' .4945 .d9{6 .4&48 ,,${4 .4SJl .{95?

.4951 .495, .49tf .49S7 .4959 .4960 "4961 ,4962 .4963 .,1964

.4965 .4966 .49d7 .4968 .4{69 .49?0 _497r .49?1 ,4tn .#14

.49?4 r49?J .4976 .497? .4r7? .4918 ,4*79 ,49?S .4980 .49fl
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.,1990 .499t "49tt ,49!r .4991 ,4991 .499! .499: .d993 ,4991
.4991 ,4993 ,49t4 .1994 .4994 .{91C4 .49*4 .499J .,t99j ,499'
,499J .499' l9S' .499{ ,4}96 .4996 .4196 .4996 .d996 .499?
.4t9? ,499? ,4t9? ,499r .qgt? .4997 .49S7 .4997 .4r9? .4998

.4818 ,'{99r .49!{ ,{999 .4999 .4999 .Aqga .,tt99 .499f, .4!{9
,500u

sourci: ,td*pr,id by lr.nlrtion frdJl1'la*dd,t{./idil' h} 6!orf. w' Ji!d.cs{ [ndltrllli$! C. Co.*.!r, rir& ldirior
@ l9\il by Tl" Iot* llnl' l,hjw.ri fr5ir,.{r!,r, lo{il, p. ft8.

LJ
t.6
t.1
J.8
1.9

2lJ

7-e

2.-t

1.6
'i..1

1",

1.0

]J
3_l
3,4

:.6


